normal probability plots on the T1-83/84/83

Ifyou ran the program FLIP50 in Exercise 2.22 (page 133}, and you still have the data (100 num-
bers mostly in the 20s) in L1/list, then use these data. If you have not entered the program and
run it, take a few minutes to do that now. Duplicate this example with your data. Here is the his-
togram that was generated at the end of one run of this simulation on each calctfator:
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Ask for one-variable statistics:

choose CALC, then 1:1-Var e In the Stats/List Editor, press; | (Calc)
stats and A (L1) and choose 1:1-Var Stats for list].

This will give us the following:
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. Comparing the means and medians (% = 25.04 versus M = 25 on the T1-83/84 and X = 24.45
‘versus M = 24 on the TI-89) suggests that the distributions are fairly symmetric. Boxplots con-
firm the roughly symmetric shape.
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Normal probability plots on the T1-83/84/38

If you ran the program FLIP50 in Exercise 2.22 (page 133}, and you still have the data (100 num-
bers mostly in the 20s) in L1/list], then use these data. If you have not entered the program and
cun it, take a few minutes to do that now. Duplicate this example with your data. Here is the his-
fogramm that was generated at the end of one run of this simulation oneach calculator.
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Ask for one-variable statistics:

choose CALC, then 1 : 1~Vér o In the Stats/List Editdr, press; [ (Calc)
ALy ~and choose 1:1-Var Stats for listl.

This will give us the following;:
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~» Comparing the means and medians (% = 25.04 versus M = 25 on the T1-83/84 and ¥ = 24.45
versus M = 24 on the TI-89) suggests that the distributions are fairly symmetric. Boxplots con-
firm the roughly symmetric shape.
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Normal probahility plots on the TI-83/84/88 (continved)

° To construct a Normal probability plot of the data with the xvalues on the horizontal axis, define
Plot 1 like this:
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¢ Use ZoomStat (ZoomData on the TI-89) to see the finished graph.
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Interpretation: The Normal probability plotis quite linear, so it is reasonable to believe that the data
follow a Normal distribution.

Comment: The cursor on the bottorn T1-83/84 screen shot is on the point with an x-value of 18 and
a zscore of —~2.58. This is the point with the smallest x-value of the 100 data values generated by
the program FLIP50. By our definition, that puts the value of x = 18 at the 1% point. The alterna-
tive definition of percentile (see page 119) would place x = 18 at the 0% point, since no data val-
ues are below this one. The Normal probability plot on the TI-83/84 and TI-89 uses a compromise:

it puts this point at the 0.5% mark. If we look up an area to the left of 0.0050 (0.5%) in Table A, we
find that z = —2.58.




